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STEDMER | FHERER| HARE STEDMER | FHEER| HARE STEDMER | FHERER| HARE
FILFILKER (A-HG) |mo/e| AR | sensuce FILFILKER (A-HG) |mo/e| AR | swensnce FILFILKIR (A-Hg) |mo/e| AR | misnsuce
#IKER (T-Hg) mg/¢| <0.0005/ 0.00055F #IKER (T-Hg) mg/¢| <0.0005/ 0.00055F #IKER (T-Hg) mg/¢| <0.0005/ 0.00055F
HREDLMEEH (Cd) mgse <0.0003| 0.01F HREDLMEEH (Cd) mese <0.0003| 0.01F HREDLMEEH (Cd) mese) <0.0003| 0.01F
#n (Pb) mgse| <0.001 | 0.01UF #n (Pb) mgse| <0.001 | 0.01UTF #n (Pb) mgse| <0.001 | 0.01UTF
Ffio0L (Cr(VI)) mg/se| <0.01 | 0.054F Ffio0L (Cr(VI)) mg/e| <0.01 | 0.054F Ffio0L (Cr(VI)) mgse| <0.01 | 0.054F
ER (As) mgse| <0.001 | 0.01UTF E3k (As) mgse| <0.001 | 0.01UF E3k (As) mgse| <0.001 | 0.01UF
£=77> (CN) mo/e| ARH | mznsuze £=77> (CN) mo/e| ARH | mznsuze £=77> (CN) mose| AHRH | mwenmuce
RUBHEE I T=IL (PCB) |mg/e| AR | mwansuce RUBHEE T T=IL (PCB) |mg/e| AR | mwansuce RUBHEE T T=IL (PCB) |mg/e| AR | mwansuce
RUZOOILFL> mesel <0.002 | 0.03LF RUZOOILFL> mesel <0.002 | 0.03LF RUZOOILFL> mesel <0.002 | 0.03LF
> h>o00IFL> mg/e|<0.0005 0.01UF > h>o00IFL> mg/e|<0.0005 0.01UTF > h>o00IFL > mg/e|<0.0005 0.01UTF
Zo0O0X5> mg/e| <0.002 | 0.024F Zo0O0X5> mg/e| <0.002 | 0.024F Zo0O0X5> mg/e| <0.002 | 0.024F
uth=tldoe mg/e| <0.0002| 0.002F MmigfbxsR mg/e| <0.0002| 0.002F Migfb R mg/¢| <0.0002 0.002F
1,22200I45> [mge/e|<0.0004|0.004UTF 1,22200I45> [mge/e|<0.0004|0.004UTF 1,22200I45> [mge/e<0.0004|0.004UTF
1,1200IFL > mg/e| <0.002 | 0.02UF 1,1200IFL > mg/e| <0.002 | 0.02UTF 1,1200IFL > mg/e| <0.002 | 0.02UTF
1,2-2000IFL> me/e| <0.004 | 0.04UF 1,2-2000IFL> me/e| <0.004 | 0.04UTF 1,2-2000IFL> mese| <0.004 | 0.04UTF
1,1,1-~U2o0O0IF> mg/e| <0.001 1T 1,1,1-~U20O0IF> mg/e| <0.001 1T 1,1,1-~U2o0O0IF> mg/e| <0.001 1T
1,1,2-~U20O0IF> |mg/e| <0.0006 0.0064F 1,1,2-~U20O0IF> |mg/e| <0.0006 0.0064F 1,1,2-~U20O0IF> |mg/e| <0.0006 0.006AF
1,3->o0070/R> mge/e| <0.0002| 0.002TF 1,3->o0070/R> mge/e| <0.0002| 0.002TF 1,3->o0070/R> mge/e| <0.0002| 0.002TF
FIOS A mg/¢| <0.0006| 0.0064F FIOS A mg/e| <0.0006| 0.006 A F FIOS A mg/¢| <0.0006| 0.0064F
INT> mg/¢| <0.0003| 0.003UF INT> mg/e| <0.0003| 0.003UF INT> mg/¢| <0.0003| 0.003UF
FARSHILD mg/e| <0.002 | 0.02F FARSHILD mg/e| <0.002 | 0.024F FARSHILD mg/e| <0.002 | 0.024F
~Rot> mgse| <0.001 | 0.01UTF o> mgse| <0.001 | 0.01UTF o> mgse| <0.001 | 0.01UF
L> (Se) mg/e| <0.002 | 0.01UTF L> (Se) mg/e| <0.002 | 0.01UTF L> (Se) mg/e| <0.002 | 0.01UTF
1,4-AFH> mg/e| <0.005 | 0.054F 1,4-AFH> mg/e| <0.005 | 0.05F 1,4-AFH> mg/e| <0.005 | 0.054F
ooOxFL> mg/¢| <0.0002|0.002UF ooOxFL> mg/¢| <0.0002|0.002UF ooOxFL> mg/e| <0.0002/ 0.002UF
BRAA> mg/e 16 — BRAA> mg/e 28 — EYLFNHEZRE (BOD) | mose| 1.4 20LF
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B GAEE HAE(E BRERISFT
pmstpsaE °C 800 800 2 K \
smamarszae  C  200BLF 200 2
FIETL 3 2 1
EpswssizeE  C 172 200 2
BN SHBHN RO~ BHLRIRE V/VO/O 0.0 2
(1a/64 B ERIFE)
RBBERERITE HHN4E12820
W B &8 B B $#4€10H28H
[EZENSHEH SNDHEH XFDIEVES, (FVNEEE (55 MFERURES]
B fif HEME  BEE(E REUSPR
EAC AR g/NMi  0.06 0.5 2 K\
MEBEYDE mN/h 0.003 51 2
BIETL N 2 1
ERMCYEE Volppm 30 250 2
B kREERE mg/mN 7.5 700 2
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EHRERRITH SM4E12H2H
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EENSHEH SN DHEH XPDS A AT D FOBEE (95 MFERURIES]
B g SHIE(E HAEE EREUGPR
A AF D FADEE ng-TEQ/mN|  0.24 10 1
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